AIR WINGS™ with UPPERS

Air Deflectors Parts List Sheet - Model for HONDA Valkyrie

Please Save
Gor Duture
/

Replacement parts are
always available from LEFT SIDE RIGHT SIDE
the Manufacturer.

With UPPERS"~ Removed
to Show Arm Bracket Position

AR WING UPPERS™
SMALL BLACK

LIRS SRR AN

PLASTIC WASHERS BLACK PLASTIC SCREWS
10-24 Chrome 1/4° S.8. CAP NUT
CAP NUT < WHITE
+~——— PLASTIC WASHER
AIR WINGS™ PARTS LIST Cerncker” b= 4 BACK PLASTIC
. . : WASHERS
2  Plastic Deflectors 2 Right Arm Brackets ] s
2 Right L Brackets 2 Left Arm Brackets ’ - \SPECIAL STOP WASHER
2 LeftL Brackets 2 Ball Knobs @+ g BAck PasT waskens
8 1/2" Black Nylon Screws 4 Large Plastic Washers ’ ‘\BW:K SCREW
16  Small Black Plastic Washers 2 Large Steel Flat Washers SMALL BLACK 2 —\ww
8 Chrome Cap Nuts 4 Curved Metal Washers PLASTIC WASHERS [ 18 PLASTIC WASHER
[4
AIR WING UPPERS™ PARTS LIST ;
2 Plastic Uppers Deflectors 4 10-24 Chrome Cap Nuts E
1 Right L Brackets 10 Large Black Plastic Washer :
1 LeftL Brackets 2 1/48.S. Cap Nuts ’
4  Black Plastic Screws 4 White Plastic Washers ’ /”‘“‘ BRACKET
8 Small Black Plastic Washers 2 Stop Washers : &= 0|
/
/
PACKAGED PARTS LIST aMaeuck 4| T
4 10-24 Chrome Cap Nut 2 Stainless Flat Washers T~ BLACK PLASTIC
4 10-24 x 1" Screws 2 8mm x 25mm S.S. Bolts ! L1 WASHERS
4  Small S.S. Washers 1 Right Mounting Bracket (Red) <——LG. STEEL FLAT WASHER
4  Snap Caps 1 Left Mounting Bracket (Green) S S % CURVED METAL WASHERS
2  Exira Black Nylon Screws (for replacements) ——BALL KNOB

*CURVED METAL WASHERS MUST BE ASSEMBLED AS SHOWN

11877 Walnut Grove Church Rd., Ohio City, Ohio 45874
Phone: 1-800-451-WING(9464) or (419) 965-2646 Fax: (419) 965-2646 MADE IN THE USA.
www.bakerbuilt.com e-mail: info@bakerbuilt.com

BAKER BUILT™ AIR WINGS", INC. &,"

VALP-304



